50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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T ﬁh Semester B.E. Degree Exammatlon, Feb./Mar. 2022
/Mlcroprocessors and M:crocontrollers

ax. Marks: 80

With a neat sketch, explain architecture of 8086. (08 Marks)

Explain with example the various addressing modes of 8086 (08 Marks)
x> OR 0y

Write an ALP to add lO 8 bit numbers and store the result in memory called SUM, with

suitable comments. JIdentify all the directives found in the program. (08 Marks)

Calculate the pl1ys1cal address for the . foﬁlowmg instructions. Assume DS = 1000H,
= 2000H,. ES = 3000H, BP = 0100H, SI = 0200H, DI = 0300H, BX = 0700H,

values = OSOOH

(1) MOV ES :[1000H],20H

(i) MOV CX, Values [BX] [DI]

(iii) ADD AL, [BP + 80H]

(iv)y MOV AX, [BX][DI] ¢ (08 Marks)

&« Module-2
Write an ALP using BIOS INT 10H to and DOS INT 21H:
(i) Clear the screen -
(i) Set the cursor at'the center of the screen N
(i11) Display message “Assembly Language Programmmg is fun” at the center of the screen
with su1table comments. AN ~ (08 Marks)

With su1tab1e examples explam “I%tate mstructlons (08 Marks)
\ OR
Write an ALP to convert: 2 .
(i) Packed BCD to ASCHI A Y
(i) ASCII packed BED, with suitable comments. (08 Marks)
Explain the sequence‘of operations when an interrupt occurs. Also explain IVT of 8086.
y (08 Marks)
Module—3
Explain stnng,,mstrucnons with suitable example (08 Marks)

Write an ALP to find the average temperature given a set of temperature as below:
=20, +10, +15, =35, +12; +30 +28,-5

Store the average temperature in AVG. (08 Marks)
. OR

Explain handlmg of overflow problem that arises in addition of signed numbers with a

suitable example: (06 Marks)

Explain 74138 decoder configuration to enable the memory address FOOOOH to F7FFFH to

connectfour 8K RAMs. (06 Marks)

Explain XL AT instruction with example. (04 Marks)
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Module-4 £
7 a. Explain in detail RISC design philosophy. g W (06 Marks)
b. Explain with a neat diagram the registers aveulable';w "ARM in user mode. (04 Marks)
c. Explain in detail exceptions, interrupts and the Yector table, of ARM7. (06 Marks)
E o i
OR wi;mﬂw 4 n 4

8 a. Explain ARM core data flow model with'a.neat diagram. \ W (06 Marks)
b. leferentlate between CISC and RISQ"wprocessors P (06 Marks)
c. (04 Marks)
9 a. [Illustrate with example the use éfbarrel shifter with arithmétic instructions. (06 Marks)
b. Explain different branch mwguctlons of ARM processﬁ% (06 Marks)
c. Explain with examplesy mgle register load-store 1n%ructions (04 Marks)

" CMRIT LIBRARY

OrR . BANGALORE - 560 037
10 a. Explain with exam K coprocessor instructions with respect to ARM processor. (06 Marks)
b. Explain the mst;tucgons which directly co%éﬁgi?é Program Status Register (PST). (06 Marks)
c. Explain SWAﬁ"‘anstrucnons of ARM processor (04 Marks)
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